


4

1 + 4 + 4 + 2 + 3 + 4 + 5 + 1 + 4 + 1 = 29
29 ÷ 10 = 2.9

2.9

5 - 1 = 4
4

5  6  8  10  13  19  24



10

10  10  10  11  12  12  13  14  15

12

15 - 10 = 5
5

10 + 10 + 10 + 11 + 12 + 12 + 13 + 14 + 15 = 107
107 ÷ 9 = 11.88888... 11.89 to 2 decimal places



0  2  2  3  5  6

6 + 0 + 3 + 2 + 2 + 5 = 18
18 ÷ 6 = 3 3

2.5

One more game, would be the 7th
7 x 4 = 28 goals in total
They have scored 18 so far
28 - 18 = 10

10



32

20  29  31  32  32  35  38
32

38 - 20 = 18 18

75% of 40 = 30

20  29  31  32  32  35  38

5



2  3  3  3  4  4  5  6  6  7
4

2+3+3+3+4+4+5+6+6+7 = 43
43 ÷ 10 = 4.3 4.3





Yes. The mean time for the girls to run 100m is 
21.5 seconds, which is less than the mean time 
for the boys. Therefore on average the girls 
were faster. The ranges for both the boys and 
girls are equal which suggests there are no 
outliers that are affecting the mean.




